WMON TROL
HORBEBRL

EE?

BN EEEA - BEAERTKE
%?E)JT’E

RERER BE8K  BER Ha<
fi B

BESBEENNRIEEERE
'f/\ﬁ'f:t/ﬂ:;ﬂ'_\_

MR IRE BT S A TG - kR
SRE 2 InEE

H MBI IVEE - ERRES
]

PB4 = PR S AR A T AR A A B S AR R AR

3

n

GGGGGGéﬁ

R
57 mm Single Stack : 57S * . OEER
il B iEE 57F4k-3.25-XXX
A 1.5875
AN BlE E57H4k-3.25-XXX B 21168
BERT Single Stack / Bipolar / 1.8° Step Angle 3 2 5400
TrER 3.25VDC T 4.2332
EMHE 2.0A 1 5.0800
SHER 1.630 2 10.1600
SEEES R 3.5mH XXX ;R E S B
WEEFE 13 W
EHH)IES 166 g.cm”
BEER Class B(Class F available)
EEEs 18 oz (511g)
iz B 20MQ
............... }&ﬂvsfﬁil
-+ 1400
300\ 1.5875 [ A | Lead Unit : mmirev
-+ 1200
250 21168 S | L1000
5200— : Load Limit -1 800 %
§15°‘ -1 600 £
100 cos00 1] 400
507 10.1600 [ 2 ] 200
0 } } } } 0
° (102'?7) (251.4) (31é?1) (55.8) (623'.55) (732)

Linear Velocity: in./sec. (mm/sec.)




R~

[E] 7€ &
Captive

EpEL:

(56.40 sQ. MAX)

4X .205+.010
(5.20.25)THRU

[38.10:0.05]__}~
1.500+.002 @

[=—2.220 SQ. MAX —=

[47.1420.20]
I'_ 1.856:.008 _‘I
SQUARE 875

[22.23]

[12.7]
.50

[11.91]
469

(45.2 MAX)
1.780 MAX

[1.52:0.25]

—=|[=— .060+.010

DIMENSION
=— "B"MAX
FULLY RETRACTED

[27.99]
l’ ?1.102

(-

@ #a- \
. @ EXTERNAL STOP WITH

#1/4-20 UNC-2A (STANDARD INCH)

©)
=—0p

.375

FRAS TG oeo iz or . |oenson | [ eon ][ |
(MUST BE SPECIFIED WHEN ORDERING) l3l:42-"8;'|]/§'-'7)
Stroke Dim. "A" Dim. "B" Suffix # |M6x1.0 Thread 422 AWG
0.500(12.7) | 1.01(25.7) 0.06(1.5) -905 -805 LEAD WIRES 1
0.750(19.05) | 1.26(32.0) 0.31(7.9) | -907 -807 _[(12.7013.2)
1.00025.4) | 1.51(38.4) | 0.56(14.2) | -910 810 1/2'+1/8"
1250(31.8) | 1.76(44.7) | 0.81(20.6) | -912 -812
1.500(38.1) | 2.01(51.1) 1.06(26.9) 915 815
2.00(50.8) | 2.51(63.8) | 1.56(39.6) | -920 -820
2.500(63.5) | 3.01(76.5) 2.06(52.3) -925 -825

. (56.40 SQ. MAX)
Non-captive T 2.220 5Q. MAX [152.40+0.76]
Js——————————— 6.000+.030
[47.1420.20] [1.52:0.25) (45.2 MAX)
4X (5.20£.25) | 1.8562.01 060+.010 | 1.780 MAX ~ |
©.205+.010 THRU |
[12.7] I
.500 1
[38.10+0.05] — I‘[9-53]
©1.500+.002 1 i ®.375
#1/4-20 UNC-2A (STANDARD INCH) [304_3’312_7]
OR M6 x 1.0-6g (STANDARD METRIC) 422 AWG 12%1/2"
THREAD TO WITHIN .050(.127) OF SHOULDER 22 AWE o b
(MUST BE SPECIFIED WHEN ORDERING) i [127532]
1/2"£1/8"
E—
8 E /F L o< =T &N\
XIZAR R B KR R~ ol k&K E] 33X
=]
Jrm] i
(56.40 SQ.MAX) (452 MAX) ___,
External — 2.220 5@. MAX —] [152.40:0.7¢] 1.780 MAX
6.00+.030
[1.5240.25] -=f|=—
[47.14+0.20] .060+.010
1.856.008
& @ i '
L [9.53] A
U
9375 EXTERNAL LINEAR NUT D i
[31.75] [5.08]
@1.25 200 —‘I
(5.20+.25)
[38.10:0.05] 4X (.2052.010 THRU l
®1.500+.002 [15.88] (304.8412.7)
.625 12'+1/2"

3X @.14(3.56) SPACED ON
¢ .875(22.22) BOLT CIRCLE

—

[4.76]
.188
[25.40] l:
1.00

XIZAR R R Bl i R~ e MR TR SK R T 38X

(12.713.2)'
1/2"¢1/8"




/WONTROL

HEeRMHBEA

S Bl e

[EIXE

EB?

,%?EM’E

B

1 E—{:I:'ﬂ::&n-l_

2R EE 2 N

Ll

ﬁGGGGGG?ﬁ

MR RR A EYHEREARN B

R RBCAR TN B

PR AR TR

TN EENEA - BEAHERTKE

RERER BEE - BRI MEE

BEZEEENNIRIFIREEE - 7

G BR

BB e T &

SIEPSERE: %N

15

57 mm Double Stack : 57D

57M4%-3.25-XXX

Linear Velocity: in./sec. (mm/sec.)

A g =R GE 57L4%-3.25-XXX 3 9 5400
AN Bla B E57M4%-3.25-XXX ) 5'0800
FHERT Double Stack / Bipolar / 1.8° Step Angle 5 10.1600
TEERE 3.25VDC Y 12.7000
ERRE 3.85A z 25.4000
SHEE 0.980 XXX BRESLRTE
SAHER 2.3mH
ThEHFE 25 W
HEIESE 332 g.cm’
B2 ER Class B(Class F available)
BiES= 32 0z (9589)
1Bz ENR 20MQ
............... ?&ﬂvsfﬁﬂ?l
1400
300+ Lead Unit : mm/rev 1200
250__Y.swo
" 1000
g 200 | Load Limit 800 %
§ 150 BN 600 §
100 + 400
504 254000 [ Z | 200
0 - - - - _ 0
0 1 2 3 4 5 6 7
(25.4) (50.8) (76.2) (101.6) (127.0) (152.4) (177.8)




R~

,ZI_E $Hﬂ L (66.0 MAX)

(56.40 sQ. MAX)

. — T 2.598 MAX
Ca ptive 2.220 5Q. MAX [1.91] DIMENSION
[47.140.20] 469 [1.52:0.25] — "B MAX
|‘— 1.8562.008 —'I [22.23] — b deos.0t0 FULLY RETRACTED
SQUARE 875 (27991
27.99
D- [12.7] @1.102
&) / 50 I _L
/ [127] ©
12.7 :[
o0 / = g _[
9.53
EXTERNAL STOP WITH ' f [_375]
#1/4-20 UNC-2A (STANDARD INCH) |
OR M6x1.0-6g (STANDARD METRIC)
[s8.10:008] 2052010 THREAD TO WITHIN .050 (1.27) OF SHOULDER | BIMENSION | |
1.500+.002 205
$1.500+.00 (5,20 28)THRU (MUST BE SPECIFIED WHEN ORDERING) h c0s84127)
12'¢1/2"
Stroke Dim. "A" Dim."B" | Suffix# |M6x1.0 Thread
#22 AWG
0.500(12.7) | 1.01(25.7) 0(0) | -905 -805 B s
0.750(19.05) | 1.26(32.0) | 0.110(2.77) | -907 -807
1.000(25.4) | 1.51(38.4) | 0.360(7.37) | -910 810 [( ',2/'27.%%‘?
1.250(31.8) | 1.76(44.7) | 0.610(15.47) | -912 812
1.500(38.1) | 2.01(51.1) | 0.860(21.83) | -915 -815
2.00(50.8) 2.51(63.8) | 1.360(34.52) -920 -820
2.500(63.5) | 3.01(76.5) | 1.860(47.22) | -925 -825

g ;E $Hﬂ [152.40+0.76]

. [56.40 MAX]} 6.000.030
Non-captive O 2220 MAX [1.52:0.25]
[47.1420.20] 060£.010 —=f fa——— [66 MAX] —————=
O 1.856+.008 2.598 MAX
@ B
[12.7]
.500
[9.53]
@.375
#1/4-20 UNC-2A (STANDARD INCH)
OR M6 x 1.0-6g (STANDARD METRIC)
3 THREAD TO WITHIN .050 (.127) OF SHOULDER I
/ [5.21:0.25) (MUST BE SPECIFIED WHEN ORDERING) [5.92] [304.8+12.7]
4X (.205+.010 THRU ., #22 AW a1 Jom
@ 233 22 AWG 124172
[38.10:0.05] - LEAD WIRES 1/
@1.500+.002
[12.7£3.2]
1/2"£1/8"

KIEAR R E R Bl I R~ e M BB KR T 38X

S| B &

E t | le—— [56.40 MAX] —
X erna O 2220 MAX fo———-————— [152.360.76] [66 MAX] ——
[47.1420.05] 6.0£.0 2.598 MAX
1.856.002 [1.5240.25] —=ff=—
.060+.010

& G '

@ [9.53] - \— EXTERNAL LINEAR NUT D

D @ D @.375 [31.75]
° ?1.25
[38.1020.05] [5.2120.25) l _ ["’,‘;ggl
@1.500£.002  4X $.205:.010 THRU b
[15.88] [304.8+12.7]
@.625 12'¢172"

3X @.14(3.56) SPACED ON A
.875 (22.22) BOLT CIRCLE

[4.76]
188 -[— )
25.40
1.00 = [12.7:3.2] f

1/2"£1/8"

XIZARRE K 8 lm R~ ol k@5 5K R T X




